102405-08

‘ ® Pontiac Montana (2000-2005)
Chevrolet Venture (2000-2004)
Oldsmobile Silhouette (2000-2003)
(w/o Video System)

PART NUMBER: CV-93-00

Proit

International

PLEASE READ COMPLETE INSTRUCTIONS BEFORE INSTALLING THIS Pro.Fit VSM®.
All instructions assume a drivers seat vantage point. * Caution is advised when removing and reassembling
wood or plastic parts of a dash. Applying unnecessary force or pressure may cause a piece to crack or break.

Pro.Fit logo and part number will be right side up and readable when installed.
TOOLS REQUIRED: #2 Phillips screwdriver, masking tape, hook tools, 7mm nut driver.
PARTS INCLUDED: Pro.Fit VSM®, instructions.

LOCATION: To the right of the radio.

Note: Before beginning installation, apply masking tape to the
area highlighted in the bottom picture. This will protect the
trim bezel from being scratched during reassembly.

STEP 1. This step is only for models that do not have cup
holders below the climate control. For models with cupholders,
start with STEP 2. Open the ashtray and auxiliary power outlet
door. Using your #2 Phillips screwdriver, remove two (2) screws,
one (1) screw to the right of the ashtray and one (1) to the left of the
power outlet door. Proceed to STEP 3.

STEP 2. This step is only for models that have cupholders below
the climate control. Open the storage box that is located directly
below the cupholders. Remove the two (2) 7mm bolts located at the
back of the box. Lift storage box out and set aside. Open the cup
holders and remove the two (2) 7mm bolts shown in photo #1.
Remove the two (2) 7mm bolts on the bottom side of the cup
holders. (See photo #2). Note: Cup holder must be opened to access
these bolts. Slide the cup holders completely out and set aside.

STEP 3. Insert a hook tool in bottom left corner of the radio and

climate control bezel and pull towards you to release a retainer clip.
Work the hook tool around the bezel until all the clips are released.
Do not disconnect wiring. Let the bezel hang out of the way. |
Remove the #2 Phillips screw to the right of the radio. (See photo
#3). Place the Pro.Fit VSM® over the centering pin and screw

hole. Insert factory screw and tighten with a #2 Phillips screwdriver. |
Reassemble the dash in reverse order, remembering to remove the |
masking tape from the bezel. g

This completes the installation of your Pro.Fit VSM®. : b

Pro.Fit International, Inc.® may not be held liable for any damage to a vehicle before, during or after the installation or removal of this
Pro.Fit VSMO. Pro.Fit may not be held liable for any personal injury resulting from accident or improper installation. Pro.Fit International,
Inc.® 1335 Eagandale Court, Eagan, MN 55121, Ph: 651-688-3588 or 800-388-0073 Fx: 651-688-9876

Installation Difficulty VIEW INSTRUCTIONS & UPDATES
®@ O O OO ONLINE @
Simple  Advanced © Pro.Fit International, Eagan, MN 2005 WWW.PRO-FIT-INTL.COM




